Sub PRECIO()
Sheets("hoja7").Select
Range("A1").Select
'SE DECLARAN LAS VARIABLES QUE SE VAN A UTILIZAR EN EL PROGRAMA
VARIACION = 0
TIR = 0
PRECIOPRO = 0
BC = 0
VALORPRESENTE = 0
TIO = 0
fila = ActiveCell.Row
fila = 27
For VARIACION = 0 To 1.01 Step 0.01
    Range("B2").Select
    ActiveCell.FormulaR1C1 = VARIACION
    Set PRECIOPRO = Range("C2")
    Set TIR = Range("D2")
    Set VALORPRESENTE = Range("E2")
    Set BC = Range("F2")
    Set TIO = Range("G2")
If TIR <> 0 Then
   'SE ESCRIBEN LOS RESULTADOS EN LA HOJA DE CALCULO
    Sheets("hoja7").Select
    Range("A27").Select
   With ActiveSheet
    .Cells(fila, 1).Value = VARIACION
    .Cells(fila, 1).Style = "percent"
    .Cells(fila, 1).NumberFormat = "0.00%"
    .Cells(fila, 2).Value = 1 - VARIACION
    .Cells(fila, 2).Style = "percent"
    .Cells(fila, 2).NumberFormat = "0.00%"
    .Cells(fila, 3).Value = PRECIOPRO
    .Cells(fila, 3).NumberFormat = "$ #,##0.00"
    .Cells(fila, 4).Value = TIR
    .Cells(fila, 4).Style = "percent"
    .Cells(fila, 4).NumberFormat = "0.00%"
    .Cells(fila, 5).Value = VALORPRESENTE
    .Cells(fila, 5).NumberFormat = "$ #,##0.00"
    .Cells(fila, 6).Value = BC
    .Cells(fila, 6).NumberFormat = "#,##0.00"
    .Cells(fila, 7).Value = TIO
    .Cells(fila, 7).Style = "percent"
    .Cells(fila, 7).NumberFormat = "0.00%"
    fila = fila + 1
 End With
End If
 Next VARIACION
End Sub




Sub BARRAR()
    Range("A27:G97").Select
    Selection.ClearContents
    Range("A27").Select
End Sub


Sub PRODUCCION()
Sheets("hoja8").Select
Range("A1").Select
'SE DECLARAN LAS VARIABLES QUE SE VAN A UTILIZAR EN EL PROGRAMA
VARIACION1 = 0
TIR = 0
PROMEDIOUNI = 0
BC = 0
VALORPRESENTE = 0
TIO = 0
fila = ActiveCell.Row
fila = 27
For VARIACION1 = 0 To 1.01 Step 0.01
    Range("B2").Select
    ActiveCell.FormulaR1C1 = VARIACION1
    Set PROMEDIOUNI = Range("C2")
    Set TIR = Range("D2")
    Set VALORPRESENTE = Range("E2")
    Set BC = Range("F2")
    Set TIO = Range("G2")
If TIR <> 0 Then
   'SE ESCRIBEN LOS RESULTADOS EN LA HOJA DE CALCULO
    Sheets("hoja8").Select
    Range("A27").Select
   With ActiveSheet
    .Cells(fila, 1).Value = VARIACION1
    .Cells(fila, 1).Style = "percent"
    .Cells(fila, 1).NumberFormat = "0.00%"
    .Cells(fila, 2).Value = 1 - VARIACION1
    .Cells(fila, 2).Style = "percent"
    .Cells(fila, 2).NumberFormat = "0.00%"
    .Cells(fila, 3).Value = PROMEDIOUNI
    .Cells(fila, 3).NumberFormat = "#,##0"
    .Cells(fila, 4).Value = TIR
    .Cells(fila, 4).Style = "percent"
    .Cells(fila, 4).NumberFormat = "0.00%"
    .Cells(fila, 5).Value = VALORPRESENTE
    .Cells(fila, 5).NumberFormat = "$ #,##0.00"
    .Cells(fila, 6).Value = BC
    .Cells(fila, 6).NumberFormat = "#,##0.00"
    .Cells(fila, 7).Value = TIO
    .Cells(fila, 7).Style = "percent"
    .Cells(fila, 7).NumberFormat = "0.00%"
    fila = fila + 1
 End With
End If
 Next VARIACION1
End Sub




Sub BORRAR2()
    Range("A27:G404").Select
    Selection.ClearContents
    Range("A27").Select
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